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 27 talkies/hr. ;   24 talkies/hr.    

          c)  26 talkies

56)     a)  '( ) 0.006 1.2 1   

         b)  $61,000/thousand dollars; $46,000/thousand dollars

         increasing at a faster rate wh
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$100,000 on advertising
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)     $38.4 million/yr;   $17.04 million/yr;   $5.71 million/yr

 

 
 

Section 3.3 
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Section 3.4 
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          c)   '(5000) $400

12)     a)  $750    b)  $760             

60,00016)     a)  C '( ) 0.000004 0.02      

          b)  0.0024, average cost decreasing when 5000 produced
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   0.0194, average cost increasing when 10,000 produced
 
Section 3.5 
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4

         d)  ''(0) 8, ''(4) 4, ''(8) 8   ft/sec   

         e)  (0) 0, (4) 16, (8) 0  feet

h h h

h t t t

h h h

h h h

= = =

= − +

= = − =

= = =

 

 
 
 



MA 223 Even Answers 

 2

Section 3.6 
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42)     500 tires/week                         
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54)     3.04 ft/sec

56)   a)  0.0064 cm/sec;  1.6 cm / sec     
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Section 3.7 
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